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. Sukka 9

Intro

Today we will 7’va learn v 97 of 1210 'O

Some of the topics we will learn about include the following: 7 J ’ D
) )

What is a 7w’ 7970 - an old 1910, and is it 7w> or 1097

Does a 1210 need to be built nnwd, for the purpose of the mzn?

Does a noD
need to be built npwb?

1 Do mxx need to be made and attached mw5?

Can a 1210 be built under a tree?
Do mwy
need to be made
O and attached npw>?

Can a n>D be built
under a tree?

N\ 4

The status of a 7970 NN 790,
a oo beneath a oo -
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. Some of the key terms and concepts we will learn about
include:
717 91 - The intermediate days between the first and last days
ofanvor

125w a - Nullification by the majority. Ifthere are two

substances mixed together, 7710 law allows for the majority to 7 D] D n ] n
nullify the minority so that the minority is considered like it's
not even there.
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So let's review...

VNI the Iwn

7w’ 710

501 RPW M2

PYWwIn S50 A

An old mo is %100 according to "Rpw m°3, and w> according to
S50 2.

730 7210 RTITPR)

oY DWW A 0P IRVYY DI

What is an old n20?

A 150 which was made more than thirty days before the 210 oy
mao -

»n DwH IRWY OX YR

7w MWR NN 19K

However, if it was made for the purpose of M0, even if it was
made immediately after the previous Mo, it’s valid even
according to "Rnw 2.

The Gemara explains that *X»>w n°a cannot use the Posuk

15 D NYIAWw MR AN -

As a source that the 7910 must be built 31 owS - for the sake of
the Yom Tov of Hashem, because it is needed to teach
151970 9R 1> an Y’ - which means,

NN Y 0w DY SNw owa

01 Yy oW ow S

Just as the meat of the 73°3m 129p becomes designated for
Hashem, and therefore, X372 MON until after the 077 N1, so
too, the 1210 becomes designated for Hashem, and therefore,
Yaw 5 PIMOR 1210 03D -

The Sukkah is R372 70K until after moo.

Therefore, we must say that the *x»w n’a learn from the Posuk
D1 NYIW > NwYn Mo an - which teaches

1PY230 0w MWYR 1910 -

Rashi explains, we understand the Posuk as if it would have
been written

35 wyn Mo - The 1910 must be made for the 210 or.

The %51 "2 however, do not require 31 oW MW 1910, because
they use this Posuk for another Halachah,

T HW 1512 190 PO -

we can build a 1210 in the middle of Yom Tov on 7vwn 5m. The
RpWw 2 hold

T SV 1912 7910 PUW PR -

As the Gemara later on 2”v 1”3 97 explains, the "Xnw n»a learn
from o1 nyaw that the 7,0 must be for seven days - the 557 2
learn from nwyn m>o:1 0 that it does not have to be for seven
days, you can make it on Yom Tov.
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The R now compares 7910 to '¥'% regarding mmwH according
to on ma:

Regarding n°»’x we learn from the posuk

15 YN O TA

JInows P

That the n"¥’s must be tied onto the garment w5 -

However, regarding 1570 we do NOT learn from

35 TWYN MO AN

JInows P

That the 7910 must be built nws -

Because, we learn from this Posuk another Halachah,

om ownb s -

We may not use a stolen Sukkah. However, regarding mx'x we
have another Posuk

onY 1w

onown

To teach 75w V1Y - therefore, we can learn nnw5 from 5.

VIRT the mwn:

1R DINN 0210 AW

7377 JINA IRWY 1R

Someone who makes their 770 under a tree is as if he made it
inside the house, and it’s Posul.

The R explains that a 7310 under a tree is only o9 if the tree
is

MDA 72D IO -

The tree provides more shade than it allows sunlight.
However, the Sukkah is qw> if the tree is

iabiiaRamintoRistonls

If the tree has very few leaves, and there is more sunlight than
shade.

This is supported by the wording of the nywn. Instead of saying
that a 1010 under a tree is %109, it says that it's like it's inside the
house.

WIOMM 72 N 1R GR DB DU N 770 -

Just like a house, its shade is greater than its sunlight, so too a
tree only makes the Sukkah 5109 when its shade is greater than
its sunlight.

The X qualifies further:

Even where the tree is 1n5%» 7219 1nmn it would be Posul if
W3 JO0 17712 5109 JI0 IO -

Where the 700 of the 1270 is not enough, and only combined
with the shade of the tree can it accomplish 1mnn 721910 1053 -
However,

Joanwa -

If he lowered the branches and mixed them in with the 500 of
the Sukkah it is Kosher, because, as Rashi explains;

R2172 502751 53 RAPIRTD -

The minority 5100 70 of the tree becomes nullified by the
majority w3 790 of the Sukkah.
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‘ The Mishnah continues;
1210723 HY 1o
72109 ANNNNM 7w YOV
If one 1o is built on top of another 71210, the upper 71210 is TW>
and the lower one is 09,
TV IR MY PINT PR OR IR AT -
A7 1 says that if no one lives in the upper 7210, the lower one ﬂ:\D

is 7w M0 23 5y
T 0 s mvoyn
aval=Raraiaininlas

3’)/@‘/

oY PPN DN
anl”~Ent)ialatate

. The X cites a X172 in explanation of the Tanna Kamma: 0
D7 NY2W 12WN MN01 "N

7207 NNNW 7191021 R
2RI DNNW 712102 R KPP yne
37 JIN2W M0 RN
The 09 says you shall live in m210 of one covering, not under
two coverings;
Not in one 7270 under another 1210,
Not in a 19y0 under a tree, and
Not in a 190 inside a house.
Although the word m>o1 is plural, which would seem to mean
two Mo, even one beneath the other - however, since it is
written without a Vav, it can be read n>1o3, singular, which
indicates only one n270.

Y/ / 4
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. n7 "7 describes four situations of 120 nnn 710, each with a
different Halachah: laN~n |
mYwI 17nw - Both are 7wy when
N1 729 ANPO NN ¥ ) b/ ] in’nw 1
ATINM 712 ANOR MO
DMWY N2 MDY R

The lower Sukkah’s suplight is greater than it.s shade, and the RIS ‘.m.svn
upper Sukkah'’s shade is greater than the sunlight. As Rashi I ‘ ‘ 3
explains, the lower Sukkah -'lJ\"?]J PN A AN2%
R 5T IRPI 71777 790 My N2 < ‘
15V 9901 WA INT | -

[
The lower 1210 is considered to not have 750, and both Mo are ‘ “ ARk Y AR
using the 700 of the upper 1:10. As long as the 700 of the upper | Mo D57 1HNd D797 P
110 is within twenty nx of the ground, they are both valid. 19DV 1903 1IEDN VNIMT

m»o9 j77nw - Both are %100 when

MM A N3 PN

PR DIWYH VNS 1YY RV

Both have adequate shade, but the 700 of the upper >0 is

LD Y @

higher than twenty mnR from the top of the lower Sukkah. The | ™en
lower one is 9109 because of 71270 nnn 7210, and the upper one is
5109 because it's too tall. I'IJVL)U NI ‘ jrean AR iﬂ‘?‘.’
mopnb
’ fate Y =ini?géial

79109 MOV 7w ANDAN -

The lower n10 is 9w3 and the upper one is 109 when ves '[‘7159 ,'[J'Psv,'n MY NN (3

ATNM 1 ANOR ANNNNN
AR 7AW N YO

DMWY NN P 'IJ\"?
The lower one has adequate shade, and the upper one does not RRMPY y
have adequate shade. Since the upper one has too much 'l“\ﬁh '7109 ' Fn%1 12 AN
sunlight, it is definitely 9109, and the lower one is not considered oMY N3 ‘
1270 Nnn 710. As long as they are both within twenty mn»x of
the ground, the lower one is Tw>. tat)inlatatat
FIRaF F1av NSy

7w YS90 ANnnn -
The lower 7210 is %100 and the upper one is 7w> when e D ﬂﬂ"?lim ﬁ‘?\Db AR 4
NN A2 N3N
DMWY PN ALY R
Both have adequate shade. Since the upper one has plenty of

779, it is valid as long as it's below twenty mnX from the top of N2V TR LIETN
;}:Deglower Sukkah. The lower one is now 1270 nnn 1210 and is ;'Ih"?l) i 1AM M ]ﬂ‘)ﬁ'
’ QMY N2
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. q The X3 asks that all these cases

seem obvious.

f?

These cases
seem obovious?

The x) answers that the case where the lower 7210 is 7w> and
the upper one is 5109 is not obvious. We might have thought
there is a 171 against doing this. If we validate a lower 7210

when the 700 of the upper 1210 is below twenty nx, we might NP “‘ mv'?::
come to validate a lower 1270 where the invalid 750 of the upper ‘ 510 5 ‘ nn'rg; tamlatatalasl

; . mroy
110 is above twenty m»R, which would pose a problem of
W3 30 7772 5109 o0 03D - combining the invalid 700 of the
upper 1010 with the valid 750 of the lower 1210, and the lower
1,0 should be invalid.
Therefore, 717 7 tells us that there is no such 77w,

o™y Tna __!-
“I| ahsialaiatal
‘l FNBF 12V RNy

We might have thought
there’s a N1 against doing this...

. We might validate a lower no)D
where the upper N2D is above 20 MHN
which would pose a problem of
W 32D TN DIDD 2D NLND
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